
L. Factor.
a) (x s.2)l—(x f 7)1 b) (5rn —2)2—(3rn _4)2 c) (2a ÷3)2—(2a—3)2
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_

3) (3y+8z)2—(Jy— Sz)2 e)(3p—7)2—(8p÷ 2)2 1) (2x—t)2—(7x÷4)2

g) 4—l3x2+36 Ii) a4 — 17a2 ÷ 16 1) y4—5y2+36

(3. Factor, if possible.

a) 8d2—32e2

e) 25s2+49t2

b) 25m2 I2

1) pl._IqZ

c) 18x2y2—5Oy4 3) 10a2—7b2

g) 5x4—80
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I .a)2(x ÷ IXx + 3) b)5(a — tXa + 4)
c)3(y+2Xy—6)d)5(y—4Xy—4)
e)2(m + 8nXm — in) f)9y(x + lXx + 5)
.a)4(x+3Xx+4) b)5(a+2Xa—6)
c)3(n—5Xn-4) d)3(p—4Xp+9)
e)7(x i. 2y)(x — 14y) f)3(a — bXa — Sb)
3 .a)4(y ÷ 2)(y — 7) b)3(m + 2Xm + 4)
c)3(x—3Xx+4)d)10(x+2Xx+6)
e )5a(m — I Xm — 1) f)7d(c — 3d)(c — 2d)
ç ..a)15q(a + 3bXa + Jb) b)6p(p + 6qXp — 5q)
e)lxy(xy — 5Xxy —4) d)3n1(m + 4Xm +8)
e )4a(a - 4bXa + 3b) f)5xy2(x + 6yx

—
‘Iy)

5.aXx2Xx1+5)hXa1+2b2)(a ÷7b2)
cXm1+ 4Xm2+ 9) d)2(b2÷ 3Xb1 + 5)
e)3(c2 + I )(c2 ÷7) f)5(x2 + 3y2Xx2÷ 2y2)
.*Xx+y+ IOXx+y— 1)
bp—2q—8Xp—2q—3) c)3(y÷lX3y— 13)
dXx+ lXx+3Xx2t-4x+5)
eX2m—n—5pX2m —n +4p)

7 .a)Answers may vary.
x- 3x ÷2,x2+X— 2,x3 lx —6 b)Answers may
vatyx3+3x+3X+2,X3+6x2410x+4

‘‘.a)25, 12 b)8,9 c)12,—10
‘I )—22, 10 e)—22, —12 fl-22, 21
9.sX4x— IX8x—3) bX8s+ lX3s—2)
cX4a + 7Xa + 3) dX4x.— 3yXx ÷ 6y)
eW5a + 3bX2ä — Sb) f)(lx — .yX3x + ‘4y)
IO.aXlx — 6X3x +5) bX9x — 2X8x ÷3)
cX5x ÷ 4X3x — 8) dX8x + 3yX6x — 5y)
eXl2c — 5d)(2e ÷ 3d) fX5y ÷ 2zX8y — 3z)

I.a)8(m+3Xm—3) b)6(x+5Xx—5)
c)5(2x + yX2x — y) d)2(3b + 8X3b — 8)
e)3(2a + 5X2a —5) f)2(3p + X3p -7)
g)5(4.,÷9X4s_9) h)3(2p÷ ItX2p— It)
I)3x(2x + 3X2x — 3) j)2m(4m + 7X4m — 7)
k)7b(3a + 2X3a — 2)1)312(5, ÷ 3X5’ — 3)
fhXx_y_zXxy+z)aX2a+b÷9X2a +b-9)
oX6a_bXt2+b)px4x2y÷5zx4x_2),_5z)

÷ 9) b)4(m + IX4m — 3) c)24a d)96yzeHIIp—55p÷9) f)—15(x÷ IX3x+ I)
gXx-3Xx÷3Xx—2x÷2)
hXa +4Xa—4Xa÷ IXa— 1) IXy÷3Xy— 3—y--.)’)
I3.)8(d ÷ 2eXd — 2e) bX5m + InX5m —
c)2y2(3x ÷ 5yX3x — 5y) d)not possible e)not
possible fl(p + qXp — q) g)5(x ÷ 2Xx — 2Xx1 +4)

IIX ÷)( —)


